JSUNIL TUTORIAL

SUMMATIVE ASSESSMENT -1, 2014
MATHEMATICS CLASS - IX

(81)V* x 4/8T <1 TReq IH T

(A 9 B 3 ©
The simplified value of (81)_1/ Y 48T is :

(A 9 B 3 (©)
V2 TR H AT :

(A 0 B 1 ©
V2 is the polynomial of degree :

(Aa) 0 ® 1 ©

Wi:c?p(x)=3x3—2x2—x+4€f, ?ﬁp(—l)a'{'la'{%:

(a) -2 B) 4 ©

If p(x) =3x" —2x° — x + 4 then p(—1) is equal to :

(A -2 B 4 ©
1 2

(\/5 + / «/5) TN T :

A 42 ® % (©

2

(\/5 + %/E) isequal to :

A 42 ® % (©
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If pl|q then x is :

43°
« > P
X
< \ >q
m
(A)  137° (B) 117° Q)  43° (D)  47°

Ife AXYZ, B 2Y > /X 3RXY=13cm, AIXZ T :

(A) 8cm (B) 9cm (© 135cm (D) 13 cm

If in a triangle XYZ, £Y > /X and XY =13 cm, then XZis:

(A) 8cm (B) 9cm (© 135cm (D) 13 cm

afe uem ey y-3187 1 Fomeren foon # qafeg @ 3 3oE &1 g0 W &, @ foig & fkwis € -
(A (03 B)  (0-3 © G0 D) (=30

If a point is on negative side of y-axis at a distance of 3 units from origin then, the

co-ordinates of the point are :
A 03 ®)  (0-3) © G0 D) (=30

T foig o Frdeish (-2, 3) €, Al sl x- AT A R

(A) 2% B) -3%kE (O -—2%FE (D) 3IFE
Co-ordinate of a point are (—2, 3). Its distance from x-axis is :

(A)  2units (B) —3 units © —2 units (D) 3 units

@us-a /SECTION-B
U9 GEAT 9 | 14 dh Uk o 2 3 &1

Question numbers 9 to 14 carry 2 marks each.

Wead w9 # fafay
845 + 2./50 — 3147

Write in simplest form :

845 + 2/50 — 3147

k 1 THT /M I IS R (x—1) 52 + 4x° — 6 + 2k T Teh [UHETE Bl I |
Find the value of k, such that x —1 is a factor of 5x° +4x* — 6x + 2k

UAEUE hIFST x* — 125 xy°
Factorise x*—125 xy’
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12. AT W RAT g A BRC@REF BRI faffAgcHFdad 2l fag
HIfT fF AB+BC=AC ¥ |

—
<«

B C
In the figure, if A, B and C are three points on a line and B lies between A and C, then
prove that AB+BC=AC.

—
<«

A B C

13. o # LAOC 3R /BOC Toh T{eT {@I AB oA & | Afca—b=80°7, a1 a 3R b 1 °H
I DI |
C

A O B
In the given figure ZAOC and ZBOC form a line AB. If a—b=280°, find the values of

aand b.
C
A O B
37T / OR
fat & AB, CD IR EF 17 Y@ foig O W dft €1 x %1 A 31 HifeTg |
E A
2x o,
< ~ D
/g\
B F
In the given figure, AB, CD and EF are three lines concurrent at O. Find the value of
x.
E A
2x 2
C+ ~ D
/%\
B F
14. Tk Y T IR 120 cm 3R oME 5: 12 : 13 & 3T & €1 B[t 1 &kt 9
RIS |
The perimeter of a A is 120 cm and its sides are in the ratio 5: 12 : 13. Find the area of
the triangle.
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WUe-¥ / SECTION-C
9 HE&A1 15 9 24 Tk Yk Y99 h 3 3 © |

Question numbers 15 to 24 carry 3 marks each.
1
375
1 1
15. T HfsTT {52(84 + 274j ]
1
N YO8 VO 7o s
Simplify : | 5| 83 + 27/3
3{Yar / OR

0.235 &1 % ¥ 9 H TR FA, S p 317 q IOF 2, q#0 B |

Express 0.235 in the form % where p and q are integers, q#0.

a 3R b &1 9H J@ HISY, Tk
16.
2443 — a+b6.
32 - 243
Find the value of a and b, if
B
V2 -243
17. It 4x° — 162° + 10 x + k T TUFETE 2x —1 &, T k 1 A T HIToT |
If 2x —1 is a factor of 4x° —16x>+10 x + k then find the value of k.
37T / OR
Il x =2y +6 B, Al x° —8y” — 36xy — 216 H1 A J1d I |
If x=2y +6, find the value of x’— 8y’ — 36xy —216.
18. IS a”+ b’ +¢* =280 AR ab+bc+ca= % %, @ (a+b+c)’ = AN I HIfC |

If a®+ b*+c*=280, and ab + bc + ca = % , then find the value of (a+b+c) 3,

19. afg p 3iK q TR TEnd €, @ y 1 A 9@ S

/<3x — 38

>Pp

-~
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What is the value of y, if p and q are parallel to each other.

3x—38
P

~

~
Y
el

374t / OR
3 ¥ /PQR=/PRQ g, @ fag =N & /PQS=/PRT & /P I AT I HITT

S&feh /PQR=70°E |
P

< >
+

s Q R T
In the given figure, ZPQR = ZPRQ, then prove that Z/PQS= /PRT. Also find £P if
ZPQR=70°.

P

< >

s Q R T

20. 19T PQR &1 4T QR W & foig S §1 fag *ifSw o PQ+ QR + RP > 2PS T
P

Q S R
Sis any point on the side QR of a triangle PQR. Prove that PQ+ QR+ RP > 2PS.
P
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21.

22.

23.

24.
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fe # AB=CD, /ABD=/CDB ¢! fdg ®ifslt ff AD=CB &1
D &

“

A B
In the given figure AB=CD, ZABD = ZCDB. Prove that AD = CB.
D C

“

A B

3 ABCD H f8ig E, ST BC %1 Tmfgifsm #xar 1 fag #ifsw f AE=ED 21
D C

A B
In a rectangle ABCD, E is a point which bisects BC. Prove that AE=ED.
D C

A B

* g F1ySt 1 T ST ol SIQHT Y, 1 39 YRR ST @l R0 379 SH| 3 e
IO & A F R e ¢ | fag w)

“If a side of a triangle is produced, then the exterior angle so formed is equal to the
sum of interior opposite angles”. Prove it.

Tq4ST ABCD &l &A% Fd HIY St&feh AB=7 cm, BC=6 cm, CD=12 cm, DA =15
cem ARAC=9cm ¥

Find the area of the quadrilateral, ABCD where AB=7 cm, BC=6 cm, CD=12 cm,
DA =15cm and AC=9 cm.
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26.

27.

28.

29.

30.
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@us-3 / SECTION-D
9 HE&AT 25 U 34 T Tk Y99 h 4 3k ©

Question numbers 25 to 34 carry 4 marks each.

RI _B- \/_3iﬁTq \/_+\/_?ﬁ ?+q* 9 ST |

B2 B2
B -2 B2 s,
If p= N \/_ and —m,ﬁndp +q~
31941/ OR
1 1 1 1 1
SRy by ;S v ol
Show that L _ 1 + 1 — 1 + 1 =5,
3-8 BT VT1-J6 Jo—5 52
43 30 3.2
R v, b eyl S w
43 30 32

Simplif - -
pyz—ﬁ 43 -3 3+2

TUHEUE hIST 2x° —x° —13x — 6.

Factorise 2x° —x* — 13x — 6.

9gUS p(x) = 2x°—3x’+ax—3a+9 Hl x+1 ¥ A I W ATHA 16 T, Al a T AF I
HINTT | AT p(x) B x+2 9 T s, ot Soher 1 e 2

The polynomial p(x) = 2x”—3x”+ax —3a +9 when divided by x +1, leaves the
remainder 16. Find the value of a. Also find the remainder when p(x) is divided by
x+2.

ﬁaaﬂmﬁ?x3—y3=(x—y) o +xy+ ) T TF 216 x° - 125 y3éswgaﬂ1%|11|
Verify x’ =y’ = (x—v) (X’ +xy+ v°). Hence factorise 216 x° —125 1/°.

T 3Td ABCD & o ¥ A(1, 3), B(1, —1) 3IRC(—1, —1) §1 38 ITH TR N
il HIfSTT SR g8eh =18 3 D % frcies A wifsiq | TR o1 gerhet ot 3
I |

Three vertices of a rectangle ABCD are A(1, 3), B(1, —1) and C(—1, —1). Plot these

points on a graph paper and hence use it to find the coordinates of the 4th vertex D.
Also find the area of the rectangle.
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31.

32.

33.

- T [ - — -
-

\-._./\-._./\-._ \_ R TR ER T B B R B
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fo= # afs AB||CD 8, T x 3Ry I HfST |

22°

58‘7 R

In the given figure, find the value of x and y if AB||CD.
|

D

A ABC 3R APQR H AB=PQ, AC=PR 3R 3% &7 AM 9 PN 9 & | T31sq foh
AABC = APQR ® |
In A ABC and APQR, AB=PQ, AC=PR and altitude AM and PN are equal. Show
that AABC = APQR.

3ter@ar / OR
fag sifse fom <1 Fryst wafmem 29 R, 9t weh s 3 < i 3iR ST Sidqid e, g
YT % < R0 IR SRT FAAT YT F SRR Bl T

Prove that two triangles are congruent, if any two angles and the included side of one
triangle are equal to two angle and the included side of other triangle.

fa3 § /BCD = ZADC 3R LACB=/BDA &1 ST fF (i) AD=BC, (ii) ZA= /BT
A B

c D
In the given figure, /ZBCD = ZADC and ZACB= ZBDA. Prove that (i) AD=BC,
(ii) £ZA=24B.
A B

C D
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34. o § RP=RQ 3R APQR %! Y=Teii QR, PR W AT M RN 39 TR € &
QM =PN g fag ifse f& OP=0Q g, S&f® f6ig O, PM 2R QN =1 ufa=ser foig 1
R

(@)

P Q
In the given figure, RP=RQ and M and N are respectively points on sides QR and PR

of APQR, such that QM =PN. Prove that OP = OQ where O is the point of

intersection of PM and QN.
R
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